
  

NOVEMBER 2021 51120/SAR5E/ 
TAC6D 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 2 = 20 marks) 

Answer any TEN questions each in 30 words. 

1. State Faraday’s laws of electrolysis. 

 ªßÚõØ£Szu¾UPõÚ L£õμ÷h°ß ÂvPøÍU TÖ. 

2. Define Thomson coefficient. 

 uõ®\ß SnPzøu Áøμ¯Ö. 

3. Define the time constant of a dc - CR circuit. 

 J¸ ÷|º ªß÷Úõmh® CR _ØÖUPõÚ ÷|μ 
©õÔ¼ø¯ Áøμ¯Ö. 

4. State Thevenin’s theorem. 

 öuÁÛß ÷uØÓzøuU TÖP. 

5. Why does parallel resonance circuit is called as a 
rejector circuit? 

 £UP Jzvø\Äa _ØÓõÚx ©Ö¨¦a _ØÖ GÚ 
AøÇUP¨£kQÓx? 
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6. Mention any two advantages of three phase 

system. 

 ‰ßÖ Pmh Aø©¨¤ß £¯ß£õkPÒ H÷uÝ® 

CμsiøÚ SÔ¨¤kP. 

7. State Biot-Savart law. 

 £¯m&\õÁºm Âvø¯ TÖ. 

8. Give the principle of moving coil ballistic 

Galvanometer. 

 C¯[S _¸Ò Aø»Ä PõÀÁÚõ©õÛ JßÔß 

uzxÁzøuU öPõk. 

9. Define mutual inductance between a pair of coils. 

 J¸ ÷áõi P®¤a _¸ÒPÐUQøh÷¯¯õÚ £›©õØÖ 

ªßyshÀ Gsøn Áøμ¯Ö. 

10. What is an earth inductor? 

 ¦Â ªßysi GßÓõÀ GßÚ? 

11. Define form factor. 

 ÁiÁ Põμo Áøμ¯Ö. 
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12. Calculate the self inductance of a solenoid having 

1000 turns and length 1 m. The area of cross-

section is 7cm2 and the relative permeability of the 

core is 1000. 

 1000 _ØÖUPÒ ©ØÖ® 1 « }Í® öPõsh 

}Ò_¸öÍõßÔß ußªß yshÀ GsønU 

PnUQkP. EÒÍPzvß SÖUS öÁmk SÖUS 

öÁmk £μ¨£ÍÄ 7 ö\.«
2
 ©ØÖ® \õº¦ Em¦SvÓß 

100 BS®. 

PART B — (5 × 5 = 25 marks) 

Answer any FIVE questions each in 200 words. 

13. What is meant by Peltier effect? How would you 

demonstrate it experimentally? 

 ö£Ài¯º ÂøÍÄ GßÓõÀ GßÚ? AuøÚ ÷\õuøÚ 

‰»® GÆÁõÖ {¹¤¨£õ´? 

14. Explain the growth of current in a circuit 

containing R and L. 

 R  ©ØÖ® L öPõsh ªß_ØÔÀ ªß÷Úõmh 

ÁÍºa]ø¯ ÂÍUSP.   



 51120/SAR5E/ 
TAC6D 

4

15. Explain delta connections in three phase 

alternating current with suitable diagram. 

 3&Pmh ©õÖvø\ ªß÷ÚõmhzvÀ öhÀhõ 

Cøn¨¦PøÍ uS¢u £hzøuU öPõsk ÂÍUSP. 

16. Explain the construction and theory of Helmholtz 

galvanometer. 

 öíÀ©õÀm_ PõÀÁÚõ©õÛ°ß Aø©¨¦ ©ØÖ® 

öPõÒøPø¯ ÂÍUSP. 

17. Describe Anderson’s bridge method of determining 

the self inductance of a coil of wire. 

 P®¤a _¸öÍõßÔß uß ªß yshÀ GsønU 

Põs£uØPõÚ Bshº\ß £õ» Aø©¨¤øÚ ÂÁ›. 

18. Describe an experiment to determine the Thomson 

co-efficient. 

 uõ®\ß SnPzøu PshÔ²® ÷\õuøÚø¯ ÂÁ›.   

[P.T.O.]
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19. How will you determine the vertical component of 

earth’s magnetic field will earth inductor? 

 ¦Âz ysk ªß_¸Îß EuÂ¯õÀ ¦ÂPõ¢u¨ 

¦»zvß ö\[SzxU TÔß ©v¨ø£ GÆÁõÖ 

PnUQkÁõ´? 

PART C — (3 × 10 = 30 marks) 

Answer any THREE questions each in 500 words. 

20. What are thermoelectric diagrams? Give its uses. 

 öÁ¨£ªß Áøμ£h® GßÓõÀ GßÚ? Auß 

£¯ß£õkPøÍU öPõk. 

21. Describe the condition in which the discharge in 

an LCR circuit is oscillatory. 

LCR ªß_ØÔÀ Aø»Ä ªß CÓUPzvØPõÚ 

{£¢uøÚø¯ ÂÍUSP. 

22. Describe an LCR series resonance circuit and 

obtain the frequency of resonance. 

 LCR ^›ø\ Jzvø\Ä _ØÔøÚ ÂÁ›zx 

Jzvø\ÂØPõÚ AvºöÁsøn¨ ö£ÖP. 
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23. Discuss the theory of moving coil ballistic 
galvanometer. Explain why and how damping 
correction is applied. 

 C¯[S _¸Ò PõÀÁÚõ©õÛ°ß öPõÒøPø¯ 
ÂÁõv. uøh²Ö v¸zu® Hß, GÆÁõÖ 
£¯ß£kzu¨£kQÓx Gß£øu ÂÍUSP. 

24. Describe an earth inductor. Deduce an expression 
for the emf induced in it when rotated uniformly in 
a magnetic field. 

 ¦Âz ysiø¯ ÂÁ›. Põ¢u ¦»® JßÔÀ ^μõP 
_ÇØÓ¨£k® ÷£õx AvÀ ysh¨£k® ªßÛ¯US 
Âø\UPõÚ ÷PõøÁø¯ Á¸Â. 

——————––– 


